oS 182 /A = 90° ¢ A4tz D
oA M L 717} g o Sh= HAztY I
& O23& ul, AEBC 9 Wel7t e e P
Holo|q B Zol 7| m A}
B L IC
-
F K G
[1 ]
H7]
& AABL O AALC © AABF
® aEBA @ ABLF ® AACH
@ ALKG © AACH




A WS 22t 48, x5, x 70| ME A S HEE S
x o] 327

@1 @ 2 @ 3 @ 4 ® 5



3. ThE ol5WAZIE o] ol B Takuly

@ 4 @ 8 ® 2430
@ 7451 ® 12




cm




ju)
I,
D)
all
O
N
-,
N
N
—
\]
o,
-



o5 293 22 ASHAZE ok A AoA AL Fot
E AX A Hll o|2&= 7P F-2 Ao dol=?
A D
ari

SC/rnI/ :_E ______ an

B’/I / C

A

F~~-8cm--"G
D 37cm @ 3+37cm ® 5v37cm

@ 3+/35cm ® 5v35cm

F ¢}

C



CHHA A = 20 722 —4 B OhA B 2 WbE ), ol 2x— 1,
A7 <7x 2 olek. T B = ax? 4 bx+c D W, a® + b + ¢
o ghe?

@ 3 @ 6 ® 9 @ 14 ® 17



a+b+c)? =a?+b*+ c? + 2ab + 2bc + 2ca

a+b+c)(a®+b?+c? —ab—bc - ca) = a® + b* + ¢® - 3abc

O (
@ (
® (a+b)® =a®+ 3a®b + 3ab® + b3
@ (
®© (



9. (1+2x-3x% +4x3 = 5x1 +6x° + 7x0)2 o] A2 A x3 O] AlE=2

@ o @ 2 ® -2 @ 4 ® -4



o] 36, B4l °17F 56 Q1 A-5HA 2] of

S}
=]

= mAjelo]

10. =

@ 6 ® 7 @ 8 ®9

@ 5



11.

xe] RE 3ol dhato] obg S40] 4YT W 44 a b, 9 T
ghe Fafolet

Prl=((x-1)(x-2)(x=3)+a(x-1)(x=2)+b(x-1)+c

5 J=X
=%



12. ko] groll TAQLel(2k? - 3k)x — (k + 2)y — (k* — 4)z = 28°] T4
AR x,y, 29 A& AL ), 3x+y+ 29 AA2?

@1 @ 2 ® 3 @ 4 ® 5



13, B4 4x -2 - 20xt 7} (x- )2 O o] Wol o,

ro g7

@ 1.2 @ 15 @ 1.8 @ 2.1 ® 24



14. oA ¥ —4x® +ax + b7F ¥ + 22 o] ol off, 3a + b 9]
®e?

® -1 @ -2 ® -3 @ —4 ® -5



15.

k=2, x4+ 22 URole u), A%} 242 5, sole
FA f(x)E X -4E Uws UHAE TSt ax + b
%e FarAe



16. 23 +9x2 +1lx+ 7 =a(x+1)3+b(x+1)> +c(x+ 1) +d 7} x°l
et FSHL W, a, b, ¢,dE A2 F5HH?

® 3 -1,3,2 @23 -1,3
@ _39 1, _39 -2 @ _2, _3, 1, -3

® 1, —-3,4, -2



17, (xX®+5x+4)(x®+5x+2)-24 5 QFEalotA (x® +ax+b)(x®+cx+d)
Al a+b+c+dE F5IH?

® 16 @ -16 @ 15 @ 18 @0



oFe % Tkl

@ x+y+2

@ x-2y+1

4+ 3xy+22-x-3y-29

@ x-y+2

® x+y+1

SERPEY

® x+2y+1



19. 5 oA 2 +ax—2, 6 —5x+ b AT x— 22 W), a+b
o ghe?

® -5 @ -2 @0 @ 2 ® 5



20.

ojzrate] Al47t 191
T+ 1% -2x Y

D 2x2+3x+2

@ 2x2+3x-2

@ 2x2-3x-2

® x2-3x+2

® x2-3x-2



21.

= ol ] X2 4 ax + 2b, x2 4 bx + 2a HTNEF
a+b 9 F2?

Do @ 2 ® -2 @ 4

OF
QF



22, & O"A BEAES] Zel7k 8em , 16em 91 9 O, O & FA
Atole] Azl 28cm |tk FEHA AB 9] ZolE Fslofal.







> (&}
o N T ®
oo o
= e
ﬂDEM

o0
mﬂwwﬂae_e
B
ﬂo J.,MO DJ|E
_n_n_w AZ
& o o

a2
,OI,.OT.O,O'J;
NI R~ I C R
oo E O
T T Qe
N ool ™

N ,_Il_y

op BT M v o
wOE oX WM
<

3 32 @ 42 B 52

@ 22

@ V2



25. oL 1o)X aAAHD 9] Yo]E Fd}o] D
a},




26. o= "

]
Trele 1™

cm

ol
o

rr



27.




28. FEFEWA 999 T H A(-2, 1),B(1, 4) ol tiste] AP = BP, /APB =
90° 7t H=5 H P & & o, aAAPB °] E89] Zol=?

D 3+ V2 @ 3v2 ® 6
@ 6+ 32 ® 6+6V2



29.

[*]

o] o]zt 10 1 €& t ™Y} go] FA47e] 288°, 72° 7}
ol 2 7o) 12 whEditt. = 22 A, B o FuE

= X
%“Tﬁ,;ﬂ%k%?

A
288° -
(] [ 1
A B

® 26 @ 4+6 ® 66

—Lr‘

N

=

<
®od



30. (44 3)(4% +3%)(4* + 3%)(4® + 3%) & tHo] oFA?

@ 48_|_38 @ 415_315 @ 415_,'_315

@ 416 _ 316 @ 416 +316






32.

(1+2x -2 = ag + ayx + azx® + - -+ + agex?* ©] xof of
Ale] Uq1,00+a2+(14+"'+(118+a209’] e

@ 29 @ 210

St

his



33. O f(x), g(x) ol tHoto] f(x) +g(x)E 42+ 3x- 1522 e
Y27} 1201}, E f(x) — g(x) S 2% + 3x - 155 w127}
—20]tt,
olw, f(x) S x% +3x - 15 0.2 = 22



34. @®b%(a—b) + b22(b - o) + Pa¥(c - a) F A ok
% Q1%:7} ohd L9

@ a-b @ b-c¢ @ c-a

@ a+b+c ® ab+bc+ca



35. Al e AL a, b, coll St [a, b, o] = (a-b)(a-c)et T T,
la, b, c] +[b, ¢, a] + [c, a, b] = 0°]WA [a, b, ] 2] FF27

Do @1 ® 2 @ 3 ® 4



% o
x,wa
n_wﬂ
oeR
m o
or I
T %
L =
o
Gy
s o
B o~
W oy
T
& ol
a X
= <
ey
o E
oK T
- Ay
N om
A <
O
Mmﬁ
I X
~n T



R T, O(x) o] A%

1
©) 5(330 -1)



